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	 1- 	tsEl ,UMª;w jSe”ks Hkkjr ds fdl xouZj tujy dk 
okLrfod uke Fkk\

	 (a)	 ykWMZ MygkS”kh	 (b)	 ykWMZ dSfuax

	 (c)	 ykWMZ ukWFkZ	 (d)	 ykWMZ d”kZu

	 2- 	1857 bZ- ds foæksg ds le; Hkkjr dk xouZj tujy 
dkSu Fkk\

	 (a)	 ykWMZ gsfLaVX”k 	 (b)	 ykWMZ dSfuax 

	 (c)	 ykWMZ ,egLVZ 	 (d)	 ykWMZ vkWdySaM

	 3-	^fgUnqLrku lks'kfyLV fjifCydu vkehZ* dh LFkkiuk gqbZ\

	 (a)	 1919 esa 	 (b)	 1927 esa 

	 (c)	 1916 esa 	 (d)	 1928 esa

	 4-	fuEufyf•r esa ls dkSu dkdksjh dkaM ls lEcaf/r ugha 
Fkk\

	 (a)	 jke çlkn fcfLey 	 (b)	 lw;Z lsu

	 (c)	 jktsUæ ykfgM+h	 (d)	 v'iQkd mYykg

	 5- 	fuEu esa ls dkSu mÙkjk•aM dh çkphu çtkfr ugha gS\

	 (a)	 ;{k 	 (b)	 ukx 

	 (c)	 [kklh	 (d)	 fdUuj

	 6- 	•qM+cqM+k dk ;q¼ gqvk Fkk

	 (a)	 1800 bZ- esa	 (b)	 1804 bZ- esa

	 (c)	 1710 bZ- esa	 (d)	 1805 bZ- esa

	 7- 	1946 esa ioZrh; {ks=k ds fy, vyx ç'kklfud Hkkx 
cukus dh ek¡x fdlus dh\

	 (a)	 Jhnso lqeu	 (b)	 cæhnÙk ik.Ms

	 (c)	 ih-lh- tks'kh	 (d)	 ekuosUæ 'kkg

	 8- 	flxkSyh dh lfU/ gqbZ Fkh%

	 (a)	 1800 bZ- esa 	 (b)	 1803 bZ- esa

	 (c)	 1805 bZ- esa 	 (d)	 1815 bZ- esa

	 9- 	peksyh ds jS.kh xk¡o esa fdlds usr`Ro esa ou&dVkbZ ds 
fojks/ esa vkUnksyu pyk;k x;k\

	 (a)	 lqUnj yky cgqxq.kk

	 (b)	 p.Mh çlkn Hkêð

	 (c)	 xkSjk nsoh 

	 (d)	 dY;k.k jkor

	10- 	̂ijekj oa'k* dk laLFkkid dkSu Fkk\

	 (a)	 vt; iky	 (b)	 dud iky

	 (c)	 dud jkWo	 (d)	 txr iky

	11- 	fuEu esa ls dkSu&lk çkphu ofyr ioZr ugha gS\

	 (a)	 ;wjky ioZr 	 (b)	 vjkoyh ioZr

	 (c)	 ,.Mht ioZr	 (d)	 vysf'k;u ioZr

	 1. 	James Andrew Ramsay was the real name of which 
Governor-General of India?

	 (a) 	 Lord Dalhousie 	 (b) 	Lord Canning
	 (c) 	 Lord North 	 (d) 	Lord Curzon
	 2. 	Who was the Governor General of India during the 

revolt of 1857?
	 (a) 	 Lord Hastings	 (b) 	Lord Canning 
	 (c) 	 Lord Amherst 	 (d) 	Lord Auckland
	 3. 	‘Hindustan Socialist Republican Army’ was 

founded in the year
	 (a) 	 1919 	 (b) 	1927 
	 (c) 	 1916 	 (d) 	1928
	 4. 	Who among the following was not associated with 

the Kakori incident?
	 (a) 	 Ram Prasad Bismil 	 (b) 	Surya Sen
	 (c) 	 Rajendra Lahiri 	 (d) 	Ashfaq Ullah
	 5. 	Which one of the following is not the ancient race 

of Uttarakhand?
	 (a) 	 Yaksha	 (b) 	Nag 
	 (c) 	 Khasi 	 (d) 	Kinnar
	 6. 	Battle of Khurbura was fought in the year
	 (a) 	 1800 A.D. 	 (b) 	1804 A.D. 
	 (c) 	 1710 A.D. 	 (d) 	1805 A.D.
	 7. 	Who demanded the separate Administrative 

Division for hill area in 1946 A.D.?
	 (a) 	 Sridev Suman 	 (b) 	Badridutt Pande 
	 (c) 	 P.C. Joshi 	 (d) 	Manvendra Shah
	 8. 	The Treaty of Sigauli took place in the year
	 (a)	 1800 A.D. 	 (b) 	1803 A.D. 
	 (c) 	 1805 A.D. 	 (d) 	1815 A.D.
	 9. 	Under whose leadership the movement against 

deforestation was launched in the Raini village of 
Chamoli?

	 (a)	 Sunder Lal Bahuguna
	 (b) 	 Chandi Prasad Bhatt
	 (c) 	 Gaura Devi
	 (d) 	 Kalyan Rawat
	 10. 	Who was the founder of Parmar Dynasty?
	 (a) 	 Ajai Pal	 (b) 	Kanak Pal 
	 (c) 	 Kanak Rao	 (d) 	Jagat-Pal
	 11. 	Which one of the following is not an old folded 

mountain?
	 (a)	 Ural mountain
	 (b)	 Aravalli mountain
	 (c)	 Andes mountain
	 (d)	 Appalachian mountain
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	12- 	fuEu esa ls dkSu ,d ewy LFky:i gS\

	 (a)	 Tokykeq•h 'kadq 	 (b)	 vof'k"V ioZr

	 (c)	 eksukMukWd	 (d)	 v i j n u k R e d 
tyçikr

	13- 	lokZf/d rVh; vijnu gksrk gS

	 (a)	 ygjksa ls	 (b)	 Tokj&HkkVk ls

	 (c)	 /kjkvksa ls	 (d)	 lqukeh ygjksa ls

	14- 	ok;qe.My dh lcls fupyh ijr dkSu lh gS\

	 (a)	 lerki e.My 	 (b)	 vks”kksu e.My 

	 (c)	 vk;u e.My	 (d)	 {kksHk e.My

	15- 	i`Foh dh Hkweè; js•h; ifjf/ gS yxHkx%

	 (a)	 31]000 fd-eh- 	 (b)	 40]000 fd-eh- 

	 (c)	 50]000 fd-eh-	 (d)	 64]000 fd-eh-

	16- 	fuEu egklkxjh; /kjkvksa esa ls dkSu&lh ç'kkUr egklkxj 
ls lEcfU/r ugha gS\

	 (a)	 dukjh	 (b)	 D;wjksf'koks

	 (c)	 dSfyiQksfuZ;k	 (d)	 gEcksYV

	17- 	lkIVk (nf{k.k ,f'k;kbZ ojh;rk O;kikj le>kSrk) dk 
xBu fdl o"kZ gqvk Fkk\

	 (a)	 1977	 (b)	 1993

	 (c)	 1985	 (d)	 1996

	18- 	fuEu esa ls dkSu&lk ,d le; dh çkÑfrd bdkbZ ugha 
gS\

	 (a)	 m".k dfVcU/h; o"kZ 	 (b)	 pUæ ekl 

	 (c)	 ekud le;	 (d)	 fnol (fnu)

	19- 	ckny ifj.kke gS

	 (a)	 ok"ihdj.k ds

	 (b)	 lkekU; rki ßkl nj ds

	 (c)	 dSVkcSfVd ßkl nj ds

	 (d)	 la?kuu ds

	20- 	fuEufyf•r esa ls dkSu&lk ,d ;qXe xyr gS\

	 (a)	 MksMh rky&mÙkjdk'kh

	 (b)	 nsofj;k rky& fVgjh

	 (c)	 csuh rky & peksyh

	 (d)	 cklqdks rky & #æç;kx

	21- 	•rfyax Xysf'k;j dgk¡ fLFkr gS\

	 (a)	 fVgjh&x<+oky ftys esa 	(b)	mÙkjdk'kh ftys esa

	 (c)	 peksyh ftys esa	 (d)	 fiFkkSjkx<+ ftys esa

	 22-	iwohZ /kSyhxaxk lgk;d unh gS

	 (a)	 vyduank dh 	 (b)	 dkyh unh dh

	 (c)	 xkserh unh dh	 (d)	 'kkjnk unh dh

	 12. 	Which of the following is a Basic landform?
	 (a)	 Volcanic cone	 (b)	 Residual mountain
	 (c)	 Monadnock 	 (d)	 Erosional waterfall
	 13. 	Maximum Coastal erosion is caused by
	 (a)	 Waves 	 (b)	 Tides 
	 (c)	 Currents 	 (d)	 Tsunami waves
	 14. 	Which is the lowest layer of the Atmosphere?
	 (a)	 Stratosphere 	 (b)	 Ozonosphere 
	 (c)	 Ionosphere 	 (d)	 Troposphere
	 15.	 The equatorial circumference of the Earth is nearly
	 (a)	 31,000 km	 (b)	 40,000 km
	 (c)	 50,000 km	 (d)	 64,000 km
	 16. 	Which one of the following Oceanic currents is 

not associated with the Pacific Ocean?
	 (a)	 Canaries	 (b)	 Kuroshio
	 (c)	 California	 (d)	 Humboldt
	 17. 	In which year was the SAPTA (South Asian 

Preferential Trade Agreement) constituted?
	 (a)	 1977 	 (b)	 1993 
	 (c)	 1985 	 (d)	 1996
	 18. 	Which one of the following is not a natural unit of 

time?
	 (a)	 Tropical year 	 (b)	 Lunar month
	 (c)	 Standard time 	 (d)	 Day
	 19. 	Clouds are the result of
	 (a)	 Evaporation 	
	 (b)	 Normal temp. lapse rate
	 (c)	 Catabatic lapse rate
	 (d)	 Condensation
	 20. 	Which one of the following pairs is incorrect?
	 (a)	 Dodi Tal – Uttarkashi
	 (b)	 Devriya Tal – Tehri
	 (c)	 Beni Tal – Chamoli
	 (d)	 Basuki Tal – Rudra prayag
	 21. 	Where is Khatling glacier situated?
	 (a)	 Tehri-Garhwal District
	 (b)	 Uttarkashi District
	 (c)	 Chamoli District
	 (d)	 Pithoragarh District
	 22. 	Eastern Dhauliganga (Poorvi Dhauliganga) is a 

tributary of
	 (a)	 Alaknanda 
	 (b)	 Kali river 
	 (c)	 Gomti river
	 (d)	 Sharda river
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	 23- 	mÙkjk•.M jkT; ds fdl jk"Vªh; ikdZ dks o"kZ 2016 esa 
^çkstsDV Vkbxj ifj;kstuk* ds vUrxZr lfEefyr fd;k 

x;k gS\

	 (a)	 xksfoUn jk"Vªh; ikdZ

	 (b)	 xaxks=kh jk"Vªh; ikdZ 

	 (c)	 jktkth jk"Vªh; ikdZ

	 (d)	 dkcZsV jk"Vªh; ikdZ

	24- 	dfy;klksM+ HkwL•yu {ks=k mÙkjk•.M esa] dgk¡ fLFkr gS\

	 (a)	 pEck vkSj ujsUæuxj ds eè; esa

	 (b)		 dksV}kj vkSj nqxîók ds eè; esa

	 (c)	 vxLR;equh vkSj xqIrdk'kh ds eè; esa

	 (d)	 Jhuxj vkSj #æç;kx ds eè; esa

	 25-	mÙkjk•.M esa fdl oU; tho fogkj lewg dks fLFkfr 
if'pe ls iwoZ dks vkSj lgh gS\

	 (a)	 dsnkjukFk&vLdksV&uUnk nsoh&fculj 

	 (b)	 dsnkjukFk&uUnk nsoh&vLdksV&fculj

	 (c)	 dsnkjukFk&uUnk&nsoh&fculj&vLdksV 

	 (d)	 uUnk nsoh&dsnkjukFk&fculj&vLdksV 

	26-	lwph&I dks lwph&II ls lqesfyr dhft, rFkk uhps fn;s 

x;s dwV dk mi;ksx djrs gq, lgh mÙkj pqfu,%

	 	 lwph&I (nksvkc)		 lwph&II (ufn;k¡)

	 A. 	fcLV nksvkc 	 i.	jkoh rFkk fpukc 
				   ds eè;

	 B- 	ckjh nksvkc	 ii.	jkoh rFkk O;kl 
				   ds eè;

	 C-	 jpuk nksvkc 	 iii. 	C;kl rFkk lryt 
				   ds eè;

	 D-	 pkt nksvkc	 iv.	fpukc rFkk >sye 	
		 ds eè;

		 dwV%
	 		  A 	 B 	 C 	 D
	 (a)		  iii 	 ii 	 ii	 v
	 (b)		  i 	 ii 	 iii 	 iv
	 (c)		  iv 	 iii 	 ii 	 i
	 (d)		  i	 iv 	 ii 	 iii

	27- 	fuEufyf•r esa ls Hkkjr esa dkSu tSofofo/rk dk ,d 

^laosnu'khy* LFkku ekuk tkrk gS\

	 (a)	 vjkoyh dks igkfM+;k¡

	 (b)	 flU/q&xaxk dk eSnku

	 (c)	 iwohZ ?kkV

	 (d)	 if'peh ?kkV

	 23. 	Which of the following National Parks of 
Uttarakhand has been included in ‘Project Tiger 
Scheme’ in 2016?

	 (a)	 Govind National Park
	 (b)	 Gangotri National Park
	 (c)	 Rajaji National Park
	 (d)	 Corbett National Park
	 24. 	Where in Uttarakhand is the ‘Kaliasaur Landslide 

Zone’ situated?
	 (a)	 Between Chamba and Narendra Nagar
	 (b)	 Between Kotdwara and Dogadda
	 (c)	 Between Agastyamuni and Guptkashi
	 (d)	 Between Srinagar and Rudra Prayag
	 25. 	Which association shows correct sequence of 

sanctuaries from west to east location in 
Uttarakhand?

	 (a)	 Kedarnath-Askot-Nanda Devi-Binsar
	 (b)	 Kedarnath-Nanda Devi-Askot-Binsar
	 (c)	 Kedarnath-Nanda Devi-Binsar-Askot
	 (d)	 Nanda Devi- Kedarnath-Binsar-Askot
	 26. 	Match List-I with List-II and select the correct 

answer by using the code given below :
	 	 List – I 		  List – II
		  (Doab)		  (Rivers)
	 A. 	 Bist Doab 	 i. 	Between Ravi and 
				    Chenab
	 B. 	 Bari Doab 	 ii. 	Between Ravi and 
				    Beas
	 C. 	 Rachna Doab 	 iii. 	Between Beas and 
				    Satluj
	 D. 	 Chaj Doab 	 iv. 	BetwEen Chenab 
				    and Jhelum
Codes :
		  	 A 	 B 	 C 	 D
	 (a)		  iii 	 ii 	 ii	 v
	 (b)		  i 	 ii 	 iii 	 iv
	 (c)		  iv 	 iii 	 ii 	 i
	 (d)		  i	 iv 	 ii 	 iii
	 27. 	Which of the following is considered a ‘hot-spot’ 

of biodiversity in India?
	 (a)	 Aravalli hills 	
	 (b)	 Indo-Gangetic plain
	 (c)	 Eastern Ghats 	
	 (d)	 Western Ghats
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	28- 	dksisu ds tyok;q oxhZdj.k ds vuqlkj fuEu esa ls 
dkSu&lk mÙkjh caxky lfgr mÙkj&iwohZ Hkkjr dk mi;qDr 
o.kZu gS\

	 (a)	 m".k dfVca/h; ekWulwu o"kkZ ou (Amw) 

	 (b)	 miks".k dfVca/h; ekulwu o"kkZ ou (Am)

	 (c)	 m".k dfVca/h; vkæZ ,oa 'kq"d tyok;q (ekWulwu 
lokuk) (Aw) 

	 (d)	 'kq"d lnhZ lfgr vkæZ miks".k tyok;q (Cwg)

	29- 	lwph&I dks lwph&II ls lqesfyr dhft, rFkk uhps fn;s 
x;s dwV dk mi;ksx djrs gq, lgh mÙkj pqfu,%

		  lwph&I		  lwph&II 

		  (mn~xe {ks=k)		 (unh) 

	 A.	 czãfxfj igkM+h	 i.	dkosjh

	 B.	 osjhukx lksrk (>juk)	 ii. 	>sye

	 C.	 egkcys'oj	 iii. 	Ñ".kk 

	 D.	 NksVk ukxiqj dk iBkj 	iv.	lqc.kZjs•k

		 dwV %
			   A 	 B 	 C 	 D
	 (a)		  iv 	 iii 	 ii 	 i
	 (b)		  i 	 ii 	 iii 	 iv
	 (c)		  ii 	 i 	 iv 	 iii
	 (d)		  iii 	 ii 	 i 	 iv

	30- 	çk;}hih; Hkkjr esa lcls yEch unh dkSu lh gS\

	 (a)	 Ñ".kk	 (b)	 ueZnk

	 (c)	 xksnkojh	 (d)	 egkunh

	31- 	Hkkjr esa lokZf/d flapkbZ foLrkj (çfr'kr) okyk jkT; 
gS%

	 (a)	 iatkc	 (b)	 mÙkj çns'k

	 (c)	 gfj;k.kk	 (d)	 eè; çns'k

	32- 	Hkkjrh; mixzg  Ük`a•yk tks nwjlapkj ra=k ds fy, mi;ksx 
esa ykbZ tk jgh gS@gS%

	 (a)	 jksfg.kh	 (b)	 vkbZ-vkj-,l- 

	 (c)	 dkVksZlSV	 (d)	 bulSV

	33- 	nf{k.k xaxks=kh D;k gS\

	 (a)	 vkU/z çns'k esa unh ?kkVh

	 (b)	 vaVkdZfVdk esa Hkkjrh; 'kks/ dsUæ

	 (c)	 xaxks=kh ds nf{k.k esa xaxk unh dk f}rh; Ïksr

	 (d)	 vaVkdZfVdk ds fudV fgUn egklkxj esa }hi

	 34- 	rfeyukMq dk leqærV dgykrk gSA

	 (a)	 fljdkj rV	 (b)	 dksad.k rV

	 (c)	 ekykckj rV	 (d)	 dksjkse.My rV

	 28. 	As per Koppen’s classification of climate, which 
one of the following is the suitable description of 
North-East India including North Bengal?

	 (a)	 Tropical monsoon rainforest (Amw)
	 (b)	 Sub-tropical monsoon rainforest (Am)
	 (c)	 Tropical wet and dry climate (Monsoon 

Savannah) (Aw)
	 (d)	 Humid sub-tropical climate with dry winter 

(Cwg)
	 29. 	Match List-I with List-II and select the correct 

answer by using the code given below :
	 	 List – I 		  List – II 
		  (Source Region)		  (River)
	 A. 	 Brahmgiri Hills 	 i. 	Cauvery
	 B. 	 Verinag Spring 	 ii. 	Jhelum
	 C. 	 Mahabaleshwar 	 iii. 	Krishna
	 D. 	 Chhota Nagpur 	 iv. 	Subarnarekha
		  Plateau
		  Codes :
			   A 	 B 	 C 	 D
	 (a)		  iv 	 iii 	 ii 	 i
	 (b)		  i 	 ii 	 iii 	 iv
	 (c)		  ii 	 i 	 iv 	 iii
	 (d)		  iii 	 ii 	 i 	 iv
	 30. 	Which is the longest river in the Peninsular India?
	 (a)	 Krishna 	 (b)	 Narmada 
	 (c)	 Godavari 	 (d)	 Mahanadi
	 31. 	Which State in India has the largest extent of 

irrigation (percent)?
	 (a)	 Punjab 	 (b)	 Uttar Pradesh 
	 (c)	 Haryana 	 (d)	 Madhya Pradesh
	 32. 	Indian Satellite series which is being used for 

telecommunication system is
	 (a)	 Rohini 	 (b)	 I.R.S. 
	 (c)	 CARTOSAT 	 (d)	 INSAT
	 33. 	What is Dakshin Gangotri?
	 (a)	 River Valley in Andhra Pradesh
	 (b)	 Indian Research Station in Antarctica
	 (c)	 Second source of river Ganga in the South 

of Gangotri
	 (d)	 Island in the Indian Ocean near Antartica
	 34. 	The sea coast of Tamil Nadu is known as
	 (a)	 Circar coast 	 (b)	 Konkan coast
	 (c)	 Malabar coast 	 (d)	 Coromandal coast
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	35- 	dkSu&lk jkT; lewg Hkk•M+k&ukaxy ifj;kstuk ls ty 
çkIr djrk gS\

	 (a)	 tEew&d'ehj] gfj;k.kk] iatkc

	 (b)	 fgekpy çns'k] iatkc] gfj;k.kk

	 (c)	 gfj;k.kk] iatkc] jktLFkku

	 (d)	 gfj;k.kk] mÙkj çns'k] jktLFkku

	36- 	Hkkjr ds lafo/ku ds fdl vuqPNsn ds vuqlkj jkT; 
ds jkT;iky ds }kjk eq[;ea=kh dks fu;qDr fd;k tkrk 
gS\

	 (a)	 vuqPNsn 163	 (b)	 vuqPNsn 164

	 (c)	 vuqPNsn 165	 (d)	 vuqPNsn 166

	37- 	mÙkjk•.M ls yksd lHkk ds fdrus lnL; fuokZfpr gksrs 
gSa\

	 (a)	 4	 (b)	 5 

	 (c)	 6	 (d)	 7 

	38- 	mÙkjk•.M dh fo/kulHkk (2016) esa euksuhr lnL; 
fdrus gSa\

	 (a)	 1	 (b)	 2

	 (c)	 3	 (d)	 4

	39-	yky cgknqj 'kkL=kh jk"Vªh; ç'kkldh; vdkneh fLFkr 
gSA

	 (a)	 fnYyh esa	 (b)	 uSuhrky esa

	 (c)	 elwjh esa	 (d)	 gSnjkckn esa

	 40- 	mÙkjk•.M yksd lsok vk;ksx ds çFke vè;{k dkSu Fks\
	 (a)	 Jh ,-ih- uokuh

	 (b)	 Jh ,- ds- nkl

	 (c)	 ys-tu-th-,l- usxh

	 (d)	 ys-tu-,e-lh- Hk.Mkjh

	41- 	fuEufyf•r esa ls mÙkjk•.M dh efgyk jkT;iky dkSu 
Fkha\

	 (a)	 Jherh deyk csuhoky	(b)	 Jherh e`nqyk flUgk 

	 (c)	 Jherh ekjxzsV vYok	 (d)	 Jherh 'khyk nhf{kr

	42- 	Hkkjrh; la?kokn esa ^fofo/rkvksa esa ,drk* dks çksUur 
djus gsrq fuEufyf•r esa ls fdu laLFkkuksa dks vko';d 
ekuk x;k gS\

	 (a)	 varjkZT; ifj"kn~ ,oa jk"Vªh; fodkl ifj"kn~

	 (b)	 foÙk vk;ksx ,oa {ks=kh; ifj"kn~ 

	 (c)	 ,dy U;kf;d O;oLFkk ,oa vf•y Hkkjrh; lsok,¡

	 (d)	 mijksDr lHkh

	43-	lafo/ku ds fdl vuqPNsn ds vuqlkj tEew o d'ehj 
jkT; dks ,d fo'ks"k n”kkZ çkIr gS\

	 (a)	 vuqPNsn 1	 (b)	 vuqPNsn 360

	 (c)	 vuqPNsn 270	 (d)	 vuqPNsn 370

	 35. 	Which group of States receives water from the 
Bhakhara-Nangal project?

	 (a)	 Jammu & Kashmir, Haryana, Punjab 
	 (b)	 H.P., Punjab, Haryana
	 (c)	 Haryana, Punjab, Rajasthan 
	 (d)	 Haryana, U.P., Rajasthan
	 36. 	According to which Article of Constitution of 

India, the Chief Minister is appointed by the 
Governor of a State?

	 (a)	 Article 163 	 (b)	 Article 164 
	 (c)	 Article 165 	 (d)	 Article 166
	 37. 	How many members of Lok Sabha are elected from 

Uttarakhand?
	 (a)	 4 	 (b)	 5 
	 (c)	 6 	 (d)	 7
	 38. 	How many nominated members are there in the 

Legislative Assembly of Uttarakhand (2016)?
	 (a)	 1 	 (b)	 2 
	 (c)	 3 	 (d)	 4
	 39. 	The Lal Bahadur Shastri National Academy of 

Administration is located in
	 (a)	 Delhi 	 (b)	 Nainital 
	 (c)	 Mussoorie 	 (d)	 Hyderabad
	 40. 	Who was the first Chairman of Uttarakhand Public 

Service Commission?
	 (a)	 Shri A.P. Navani 	
	 (b)	 Shri A.K. Dass
	 (c)	 Lt. Gen. G.S. Negi 	
	 (d)	 Lt. Gen. M.C. Bhandari
	 41. 	Who among the following was the Lady Governor 

of Uttarakhand?
	 (a)	 Ms. Kamla Beniwal 	(b)	 Ms. Mridula Sinha
	 (c)	 Ms. Margret Alva 	 (d)	 Ms. Sheila Dikshit
	 42. 	Which of the following institutes are considered 

necessary to promote ‘Unity among diversity’ in 
the Indian Federalism?

	 (a)	 Inter-State Councils & National Development 
Council

	 (b)	 Finance Commission & Regional Council
	 (c)	 Unitary Judicial System & All India Services
	 (d)	 All of the above
	 43. 	According to which Article of the Constitution, the 

State of Jammu and Kashmir has got a Special 
Status?

	 (a)	 Article 1 	 (b)	 Article 360 
	 (c)	 Article 270 	 (d)	 Article 370
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	44- 	lafo/ku ds fdu vuqPNsnksa ds vuqlkj vks-ch-lh (vU; 
fiNM+k oxZ) dks vkj{k.k ds çko/ku fd, x, gSa\

	 (a)	 vuqPNsn 13(II) rFkk 14

	 (b)	 vuqPNsn 14 ,oa 15

	 (c)	 vuqPNsn 15(IV) rFkk 16(IV)

	 (b)	 vuqPNsn 17 ,oa 18

	45-	Hkkjrh; x.kjkT; ds lafo/ku dk dkSu&lk vuqPNsn O;fDr 
dh ^çk.k ,oa nSfgd Lora=krk* ds laj{k.k ls lacaf/r gS\

	 (a)	 vuqPNsn 19	 (b)	 vuqPNsn 21

	 (c)	 vuqPNsn 20 	 (d) 	vuqPNsn 22 

	46- 	lafo/ku ds fdl vuqPNsn }kjk i`Fkd~ vuqlwfpr tutkfr 
vk;ksx dk xBu fd;k x;k gS\

	 (a)	 337	 (b)	 338

	 (c)	 338&d	 (d)	 340

	47- 	la;qDr jk"Vª la?k ds çtkrU=khdj.k dh ek¡x dk laca/ 
eq[;r;k gS

	 (a)	 egk lHkk ls

	 (b)	 vkfFkZd ,oa lkekftd ifj"kn~ ls

	 (c)	 lqj{kk ifj"kn~ ls

	 (d)	 U;kl ifj"kn~ ls

	48- 	Hkkjr lkdZ lEesyu] loZçFke fdl o"kZ vk;ksftr fd;k 
x;k Fkk\

	 (a)	 1986

	 (b)	 1995

 	 (c)	 2007

	 (d)	 mifjfyf•r esa ls dksbZ ugha

	49- 	o"kZ 1997 bZ- esa fo'o i;kZoj.k lEesyu vk;ksftr fd;k 
x;k Fkk

	 (a)	 fj;ks&fM&tsusjks esa	 (b)	 uSjksch esa 

	 (c)	 D;ksVks esa	 (d)	 U;w;kdZ esa

	 50- 	Hkkjr ds ijek.kq&fl¼kUr esa lfEefyr gS
	 (a)	 igy u djuk

	 (b)	 ,drjiQk çfrcU/ 

	 (c)		 U;wure fo'oluh; fuokj.k

	 (d)	 mijksDr lHkh

	51- 	lu~ 2001 bZ- esa ^fcd* 'kCn dks fdlus x<+k Fkk\
	 (a)	 fte vks uhy	 (b)	 cjkd vksckek

	 (c)	 tkWu dSusMh	 (d)	 Cykfnfej iqfru

	52- 	fdl ds 'kklu dky esa Hkkjr esa mnkjhdj.k ds çFke 
pj.k dks vkjEHk fd;k x;k\

	 (a)	 jktho xk¡/h 	 (b)	 ih-oh- ujflEgk jko 

	 (c)	 vVy fcgkjh oktis;h	 (d)	 ,p-Mh- nsoxkSM+k

	 44. 	The provisions of reservation for O.B.C. is made 
in the Constitution under which Articles?

	 (a)	 Article 13 (II) & 14 	
	 (b)	 Article 14 & 15
	 (c)	 Article 15 (IV) & 16 (IV) 
	 (d)	 Article 17 & 18
	 45.	 Which Article of the Constitution of Indian 

Republic relates to the Protection of ‘Life and 
Personal Liberty’?

	 (a)	 Article 19 	 (b)	 Article 21 
	 (c)	 Article 20 	 (d)	 Article 22
	 46. 	Under which Article of the Constitution the 

Separate Scheduled Tribe Commission was 
established?

	 (a)	 337 	 (b)	 338 
	 (c)	 338-A 	 (d)	 340
	 47. 	The demand for democratisation of U.N.O. is 

mainly related to
	 (a)	 General Assembly 	
	 (b)	 Economic and Social Council
	 (c)	 Security Council 	
	 (d)	 Trustiship Council
	 48. 	In which year, for the first time, SAARC meet was 

organised in India?
	 (a)	 1986 
	 (b)	 1995
	 (c)	 2007 
	 (d)	 None of the above
	 49. 	In the year 1997, the World Environment 

Conference was organised in
	 (a)	 Reo-de-Janeiro 	 (b)	 Nairobi
	 (c)	 Kyoto 	 (d)	 New York
	 50. 	The Nuclear doctrine of India contains
	 (a)	 No first use 	
	 (b)	 Unilateral moratorium
	 (c)	 Minimum Credible deterrence 
	 (d)	 All the above
	 51. 	Who coined the term ‘BRICS’ in 2001?
	 (a)	 Jim O’ Neill 	 (b)	 Barack Obama 
	 (c)	 John Kennedy 	 (d)	 Vladimir Putin
	 52.	 The first phase of liberalization was initiated in 

India under the regime of
	 (a)	 Rajiv Gandhi 
	 (b)	 P.V. Narsimha Rao
	 (c)	 Atal Behari Vajapyee
	 (d)	 H.D. Dev Gowda
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	53- 	o"kZ 2016 esa fuEu esa ls fdldks jk"Vªh; ny dh ekU;rk 
nh xbZ\

	 (a)	 vkbZ-,u-,y-Mh-	 (b)	 vdkyh ny

	 (c)	 Vh-,e-lh-	 (d)	 ,-vkbZ-,-Mh-,e-

	54- 	fuEufyf•r esa ls fdl fo}ku us Lora=krk ds çkjfEHkd 
o"kks± dh Hkkjr dh nyh; O;oLFkk dk ,dnyh; 
çHkqRo'kkyh O;oLFkk ds :i esa o.kZu fd;k\

	 (a)	 ekbju ohuj	 (b)	 jtuh dksBkjh

	 (c)	 vkWfLVu	 (d)	 Hkh[kw ikjh[k

	55- 	fuEu esa ls dkSu Hkkjr esa jktuhfrd nyksa dks ekU;rk 
çnku djrk gS\

	 (a)	 Hkkjr dk jk"Vªifr

	 (b)	 Hkkjr dk fuokZpu vk;ksx

	 (c)	 fof/ ,oa U;k; ea=kky;

	 (d)	 yksd lHkk vè;{k

	56- 	fuEufyf•r esa ls fdl lfefr@vk;ksx us U;k; iapk;rksa 
ds xBu dks fliQkfj'k dh gS\

	 (a)	 cyoarjk; esgrk lfefr

	 (b)	 v'kksdk esgrk lfefr

	 (c)	 th-oh-ds- jk; lfefr

	  (d)	 ljdkfj;k vk;ksx

	57- 	̂iapk;r jkt* O;oLFkk dk fuEu esa ls fdlesa mYys• 
gS\

	 (a)	 la?k lwph 	 (b)	 jkT; lwph

	 (c)	 leorhZ lwph	 (d)	 buesa ls dksbZ ugha

	58- 	fuEufyf•r dk;ks± esa ls dkSu&lk dk;Z LFkkuh; Lo'kklu 
ls lEcfU/r ugha gS\

	 (a)	 tu&LokLF;

	 (b)	 LoPNrk dk çcU/

	 (c)	 tu&mi;ksxh lsok,¡

	  (d)	 yksd&O;oLFkk dk vuqj{k.k

	59- 	fuEufyf•r vuqPNsnksa esa ls dkSu&lk vuqPNsn iapk;rksa 
esa vuqlwfpr tkfr;ksa ,oa vuqlwfpr tutkfr;ksa ds fy, 
lhVksa dk vkj{k.k çnku djrk gS\

	 (a)	 243 (D)	 (b)	 243 (C)

	 (c)	 243 (B)	 (d)	 243 (A)

	60- 	̂lsok ds vf/dkj* dh vo/kj.kk çkjEHk gqbZ

	 (a)	 la;qDr jkT; vesfjdk esa

	 (b)	 fLoV~”kjyS.M esa

	 (c)	 xzsV fczVsu esa

	 (d)	 phu esa

	 53. 	Which one of the following has been recognised 
as National Party in 2016?

	 (a)	 I.N.L.D 	 (b)	 Akali Dal 
	 (c)	 T.M.C. 	 (d)	 A.I.A.D.M.K.
	 54. 	Who among the following scholars described the 

party system prevailing in India in the early years 
of Independence as one party dominant system?

	 (a)	 Myron Weiner 
	 (b)	 Rajni Kothari
	 (c)	 Austin 
	 (d)	 Bhikhu Parikh
	 55. 	Who recognises the political parties in India?
	 (a)	 President of India 	
	 (b)	 Election Commission of India
	 (c)	 Ministry of Law and Justice 
	 (d)	 Speaker of the Lok Sabha
	 56. 	Which one of the following Committees/

Commissions recommended the creation of Nyaya 
Panchayats?

	 (a)	 Balwantrai Mehta Committee 
	 (b)	 Ashok Mehta Committee
	 (c)	 G.V.K. Rao Committee 	
	 (d)	 Sarkaria Commission
	 57. 	The system of Panchayat Raj is mentioned in
	 (a)	 The Union List 
	 (b)	 The State List
	 (c)	 The Concurrent List
 	 (d)	 None of the above
	 58. 	Which one of the following functions is not the 

concern of Local Self Government?
	 (a)	 Public Health 	
	 (b)	 Sanitation
	 (c)	 Public Utility Services 	
	 (d)	 Maintenance of Public Order
	 59. 	Which one of the following Articles provides 

reservation of seats for the Scheduled Castes and 
Scheduled Tribes in the Panchayats?

	 (a)	 243 (D)	 (b)	 243 (C)
	 (c)	 243 (B)	 (d)	 243 (A) 
	 60. 	The concept of ‘Right to Service’ originated in
	 (a)	 The United States of America 
	 (b)	 Switzerland
	 (c)	 Great Britain 	
	 (d)	 China
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	61- 	mÙkjk•.M jkT; ds o"kZ 2016&17 ds ctV esa fuEufyf•r 
enksa esa ls fdldks vf/d /ujkf'k vkcafVr dh xbZ gS\

	 (a)	 Ldwyh f'k{kk	 (b)	 Ñf"k fodkl 

	 (c)	 vkS|ksfxd fodkl	 (d)	 lM+d fuekZ.k

	62- 	mÙkjk•.M jkT; dh lcls cM+h ty&fo|qr ifj;kstuk 
gS

	 (a)	 'kkjnk ifj;kstuk	 (b)	 •knksjh ifj;kstuk

	 (c)	 iFkjh ifj;kstuk	 (d)	 fVgjh ifj;kstuk

	63- 	mÙkjk•.M dk ^gjsyk* ioZ lacaf/r gS&

	 (a)	 ikS/k jksi.k ls 	 (b)	 yksd u`R; ls 

	 (c)	 i'kqikyu ls	 (d)	 buesa ls dksbZ ugha

	64- 	fuEufyf•r esa ls mÙkjk•.M dk dkSu&lk ,;jiksVZ 
lokZf/d lapkyu esa gS\ 	

	 (a)	 iaruxj 	 (b)	 xkspj 

	 (c)	 tkSyh xzkaV	 (d)	 HkjdksV 

	65- 	o"kZ 2015 esa mÙkjk•.M ds fuEufyf•r rhFkZ LFkkuksa esa 
ls fdl ,d ij lokZf/d la[;k esa i;ZVd n'kZukFkZ 
vk;s\

	 (a)	 ;equks=kh 	 (b)	 xaxks=kh 

	 (c)	 dsnkjukFk	 (d)	 cæhukFk 

	66-	2011 dh tux.kuk ds vuqlkj mÙkjk•.M ds fuEufyf•r 
esa ls fdl ftys dh tula[;k lcls de gS\ 

	 (a)	 #æç;kx 	 (b)	 ckxs'oj

	 (c)	 pEikor 	 (d)	 peksyh

	67-	fuEufyf•r ns'kksa esa ls dkSu&lk ,d ns'k Hkkjr ds fons'kh 
O;kikj esa lcls cM+k lk>snkj gS\ 

	 (a)	 ;w-,l-,-	 (b)	 ;w-ds-

	 (c)	 Úkal	 (d)	 phu

	68-	jk"Vªh; Ñf"k chek ;kstuk Hkkjr esa fdl o"kZ esa çkjEHk 
gqbZ Fkh\

	 (a)	 1997-98 	 (b)	 1998-99 

	 (c)	 1999-2000 	 (d)	 2000-2001

	69- 	2011 dh tux.kuk ds vuqlkj] Hkkjr esa fuEufyf•r 
jkT;ksa esa ls fdl jkT; esa U;wure fyax vuqikr gS\

	 (a)	 iatkc	 (b)	 gfj;k.kk

	 (c)	 vksfM'kk	 (d)	 jktLFkku

	70- 	Hkkjr esa jk"Vªh; vk; dh x.kuk dh leL;kvksa esa ls 
,d gS&

	 (a)	 vYi&jks”kxkj 

	 (b)	 eqæk LiQhfr

	 (c)	 cprksa dk fuEu Lrj

	 (d)	 xSj&ekSfæÑr miHkksx

	 61. 	In the Budget for the year 2016-17 of the State of 
Uttarakhand, which of the following items has 
been allotted the highest amount?

	 (a)	 School Education 	
	 (b)	 Agricultural Development
	 (c)	 Industrial Development 	
	 (d)	 Roads Construction
	 62. 	The biggest Hydro-Electric Project of Uttarakhand 

State is :
	 (a)	 Sharda Project 	 (b)	 Khadori Project 
	 (c)	 Pathari Project 	 (d)	 Tehri Project
	 63. 	‘HARELA’ festival of Uttarakhand is related to
	 (a)	 Plantation 	 (b)	 Folk Dance
	 (c)	 Animal Husbandry 	 (d)	 None of the above
	 64. 	Which of the following airport of Uttarakhand is 

most operational?
	 (a)	 Pantnagar 	 (b)	 Gauchar 
	 (c)	 Jolly Grant 	 (d)	 Bharkot
	 65. 	Which one of the following shrines of Uttarakhand 

was visited by maximum number of tourists in the 
year 2015?

	 (a)	 Yamnotri 	 (b)	 Gangotri 
	 (c)	 Kedarnath 	 (d)	 Badrinath
	 66. 	Which of the following districts of Uttarakhand 

has the lowest population as per the 2011 Census?
	 (a)	 Rudraprayag 	 (b)	 Bageshwar 
	 (c)	 Champawat 	 (d)	 Chamoli
	 67. 	Which one of the following countries is the largest 

Trading partner of India?
	 (a)	 U.S.A. 	 (b)	 U.K. 
	 (c)	 France 	 (d)	 China
	 68. 	National Agricultural Insurance Scheme was 

started in India in the year
	 (a)	 1997 – 98 	 (b)	 1998 – 99 
	 (c)	 1999 – 2000 	 (d)	 2000 – 2001
	 69. 	As per Census, 2011, which of the following states 

in India has the lowest sex-ratio?
	 (a)	 Punjab 	 (b)	 Haryana 
	 (c) 	 Odisha 	 (d)	 Rajasthan
	 70. 	One of the problems in calculating National 

Income in India is
	 (a)	 Under-employment 	
	 (b)	 Inflation
	 (c)	 Low level of savings 	
	 (d)	 Non-monetised consumption
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	71- 	Hkkjr esa Ñf"k ds fy;s iqufoZÙk çnku djus okyk lokZsPp 
cSad gS%

	 (a)	 vkj-ch-vkbZ- 	 (b)	 ukckMZ

	 (c)	 ,y-Mh-ch-	 (d)	 ,l-ch-vkbZ-

	72- 	pkSngosa foÙk vk;ksx ds vuqlkj] 'kq¼ dsUæh; dj vk; 
esa jkT;ksa dks vkoafVr gksus okys ek=kk dk çfr'kr gSA

	 (a)	 32 çfr'kr 	 (b)	 35 çfr'kr

	 (c)	 40 çfr'kr	 (d)	 42 çfr'kr

	73- 	Hkkjr esa dkSu&lk {ks=k lcls vf/d çR;{k fons'kh fuos'k 
(,iQ-Mh-vkbZ) bfDoVks çokg dks vkdf"kZr djrk gSA

	 (a)	 fuekZ.k {ks=kd	 (b)	 ÅtkZ {ks=kd

	 (c)	 lsok {ks=kd	 (d)	 vkWVkseksckby {ks=kd 

	74- 	fuEufyf•r esa ls orZeku esa Hkkjrh; fj”koZ cSad dk 
xouZj dkSu gS\

	 (a)	 Mh- lqCckjko	 (b)	 lkS- jaxk jktu

	 (c)	 j?kqjke jktu	 (d)	 mftZr iVsy

	75- 	ekuo fodkl lwpdkad fuEufyf•r esa ls fdldk la;qDr 
lwpdkad gS\

	 (a)	 iks"k.k laca/h fLFkfr] thou dh xq.koÙkk ,oa çfr 
O;fDr th-Mh-ih-

	 (b)	 fu/Zurk] thou çR;k'kk ,oa 'kS{kf.kd miyfC/

	 (c)	 thou çR;k'kk] 'kS{kf.kd miyfC/ ,oa çfr O;fDr 
vk;

	 (d)	 eqæk LiQhfr] csjks”kxkjh ,oa çfr O;fDr th-Mh-ih-

	76- 	Hkkjr esa lhekar tksr dk vkdkj gS

	 (a)	 5 gsDVs;j ls vf/d

	 (b)	 2 gsDVs;j ls 4 gsDVs;j

	 (c)	 1 gsDVs;j ls 2 gsDVs;j

	 (d)	 1 gsDVs;j ls de

	77- 	̂fczd* la?k fdl o"kZ ^fczDl* esa ifjofrZr gqvk\
	 (a)	 2010	 (b)	 2015 

	 (c)	 2009	 (d)	 2012

	78-	okf.kfT;d lsokvksa ds fu;kZr esa Hkkjr dk fo'o esa o"kZ 
2014 esa D;k LFkku Fkk\

	 (a)	 lkrok¡	 (b)	 vkBok¡

	 (c)	 ukSok¡	 (d)	 nlok¡

	79- 	vksisd (vkWxZukbts'ku vkWiQ nh isVªksfy;e ,DliksfVZax 
dUVªht) dk fuEufyf•r esa ls fdl ij fo'ks"k cy gS\

	 (a)	 isVªksfy;e dk mRiknu

	 (b)	 isVªksfy;e dh dherksa ij fu;a=k.k

	 (c)	 (a) rFkk (b) nksuksa

	  (d)	 mijksDr esa ls dksbZ ugha

	 71. 	The Apex bank for providing Agricultural 
Refinance in India is

	 (a)	 RBI 	 (b)	 NABARD 
	 (c)	 LDB 	 (d)	 SBI
	 72. 	According to the 14th Finance Commission, the 

percentage share of States in the net proceeds of 
the shareable Central tax revenue should be

	 (a)	 32 percent 	 (b)	 35 percent 
	 (c)	 40 percent 	 (d)	 42 percent
	 73. 	Which sector in India attracts the highest FDI 

equity flow?
	 (a)	 Construction sector 	 (b)	 Energy sector
	 (c)	 Service sector 	 (d)	 Automobile sector
	 74. 	Who among the following is the present Governor 

of the Reserve Bank of India?
	 (a)	 D. Subba Rao 	 (b)	 C. Ranga Rajan
	 (c)	 Raghuram Rajan 	 (d)	 Urjit Patel
	 75. 	Human Development Index is a composite index 

of which of the following?
	 (a)	 Nutritional status, quality of life and per 

capita GDP.
	 (b)	 Poverty, life expectancy and educational 

attainment.
	 (c)	 Life expectancy, educational attainment and 

per capita income.
	 (d)	 Inflation, Unemployment and per capital 

GDP
	 76. 	The size of marginal land holding in India is
	 (a)	 More than 5 hectares 	
	 (b)	 2 hectares to 4 hectares
	 (c)	 1 hectare to 2 hectares 	
	 (d)	 Less than 1 hectare
	 77. 	In which year ‘BRIC’ grouping was formed as 

‘BRICS’?
	 (a)	 2010 	 (b)	 2015 
	 (c)	 2009 	 (d)	 2012
	 78. 	What was the rank of India in Commercial Services 

Exports in the world in 2014?
	 (a)	 7th 	 (b)	 8th 

	 (c)	 9th 	 (d)	 10th

	 79. 	The main emphasis of OPEC (Organisation of the 
Petroleum Exporting Countries) is on which of the 
following?

	 (a)	 The production of petroleum 
	 (b)	 Control over prices of petroleum
	 (c)	 Both (a) and (b)		
	 (d)	 None of the above
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	 80. 	Globalisation does not include
	 (a)	 Reduction in import duties 
	 (b)	 Abolition of import licensing
	 (c)	 Free flow of Foreign Direct Investment 
	 (d)	 Disinvestment of Public Sector equity
	 81. 	How many countries are members of World Bank?
	 (a)	 189 	 (b)	 181 
	 (c)	 164 	 (d)	 193
	 82. 	Which one of the following publishes the ‘Global 

Competitiveness Index’ report?
	 (a)	 U.N.D.P. 	
	 (b)	 World Economic Forum
	 (c)	 I.M.F. 	
	 (d)	 W.T.O.
	 83. 	The Indian Grain Storage Management and 

Research Institute for providing training to the 
SAARC member countries is situated at

	 (a)	 New Delhi 	 (b)	 Pantnagar 
	 (c)	 Hapur 	 (d)	 Hyderabad
	 84. 	The Prevention of Money Laundering Act came 

into force in India during
	 (a)	 1998 	 (b)	 1999 
	 (c)	 2001 	 (d)	 2005
	 85. 	‘TRIMs’ stands for
	 (a)	 Trade Related Income Measures 
	 (b)	 Trade Related Investment Measures
	 (c)	 Trade Related Innovative Measures 
	 (d)	 Trade Related Incentive Measures
	 86. 	Gene is
	 (a)	 A segment of DNA 	
	 (b)	 A segment of DNA and histone
	 (c)	 A segment of DNA, RNA and histone 
	 (d)	 All of the above
	 87. 	Thalassemia is a hereditary disease which affects
	 (a)	 Blood 
	 (b)	 Lungs 
	 (c)	 Heart 
	 (d)	 Kidney
	 88. 	Who among the following gave the term 

“Nanotechnology” and when?
	 (a)	 Richard Feynman – 1959 
	 (b)	 Norio Taniguchi – 1974
	 (c)	 Eric Drexler – 1986
	 (d)	 Sumioljima – 1991

	80- 	oS'ohdj.k esa lfEefyr ugha gS
	 (a)	 vk;kr 'kqYdksa esa dVkSrh

	 (b)	 vk;kr ykblsaflax dh lekfIr

	 (c)	 çR;{k fons'kh fuos'k dk Lora=k çokg

	 (d)	 lkoZtfud {ks=k dks bfDoVh dk fofuos'k

	81- 	fo'o cSad ds fdrus lnL; ns'k gS\
	 (a)	 189	 (b)	 181

	 (c)	 164	 (d)	 193

	82- 	fuEufyf•r esa ls dkSu ,d ̂ oSf'od Li/kZRed lwpdkad* 
fjiksVZ çdkf'kr djrk gS\

	 (a)	 ;w-,u-Mh-ih-

	 (b)	 fo'o vkfFkZd iQksje

	 (c)	 vkbZ-,e-,iQ-

	 (d)	 MCY;w-Vh-vks-

	83- 	lkdZ (SAARC) lnL; ns'kksa dks çf'k{k.k nsus gsrq 
Hkkjrh; vukt HkaMkj.k çca/ ,oa vuqla/ku laLFkku fLFkr 
gS&

	 (a)	 ubZ fnYyh	 (b)	 iaruxj

	 (c)	 gkiqM+	 (d)	 gSnjkckn

	84- 	̂fçosa'ku vkWiQ euh ykaMfjax ,DV* Hkkjr esa dcls çHkkoh 
gqvk\

	 (a)	 1998	 (b)	 1999
	 (c)	 2001	 (d)	 2005

	 85-	^fVªEl* dk iwjk uke gS&
	 (a)	 VªsM fjysVsM bude eStlZ

	 (b)	 VªsM fjysVsM buosLVesaV eStlZ 

	 (c)	 VªsM fjysVsM buksosfVo eStlZ

	 (d)	 VªsM fjysVsM bulsafVo eStlZ	

	86- 	thu gS&
	 (a)	 Mh-,u-,- dk ,d Hkkx

	 (b)	 Mh-,u-,- vkSj fgLVksu dk ,d Hkkx 

	 (c)	 Mh-,u-,- vkj-,u-,- vkSj fgLVksu dk ,d Hkkx 

	 (d)	 mijksDr lHkh

	87- 	FkSyslhfe;k ,d vkuqoaf'kd jksx gS ftlls çHkkfor gksrk 
gS%

	 (a)	 jDr	 (b)	 iQsiQM+s

	 (c)	 ân;	 (d)	 xqnZs

	 88-	fuEufyf•r esa ls fdlus ^uSuks VsDuksykWth* 'kCn dk 
ç;ksx fd;k vkSj dc\

	 (a)	 fjpkMZ iQsueSu&1959

	 (b)	 uksfj;ks Vkfuxqph&1974

	 (c)	 ,fjd MªDlyj&1986

	 (d)	 lqfe;ksyftek&1991
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	89- 	mÙkjk•.M i'kq/u fodkl cksMZ dk çf'k{k.k dsaæ fLFkr 
gS%

	 (a)	 nsgjknwu 	 (b)	 ½f"kds'k

	 (c)	 dkylh	 (d)	 gfj}kj

	 90-	fuEu leqPp; esa ls dkSu&lh xSlsa xzhu gkml çHkko ds 
fy, vR;f/d egÙoiw.kZ gS\

	 (a)	 dkcZu MkbvkWDlkbM] feFksu] Dyksjhu] ukbfVªd 
vkWDlkbM

	 (b)	 ukbfVªd vkWDlkbM] feFksu] bFksu] DyksjksÝyksjks 
dkcZUl

	 (c)	 dkcZu MkbvkWDlkbM] feFksu] ukbVªl vkWDlkbM] 
ty ok"i

	 (d)	 dkcZu eksuksDlkbM] lYiQj MkbvkWDlkbM] feFksu] 
ty ok"i

	91- 	fufdy&dSMfe;e (Ni-Cd) cSVjh dk ç;ksx gksrk gS%
	 (a)	 dSydqysVj

	 (b)	 dkWMZysl bysDVªkWfud midj.k

	 (c)	 VªkfUtLVj

	 (d)	 mi;ZqDr lHkh esa

	 92-	dkSu&lk dFku ukfHkdh; fo•aMu ls lacaf/r ugha gS\
	 (a)	 U;wVªku&çsfjr ukfHkdh; vfHkfØ;k

	 (b)	 rkjksa esa ÅtkZ mRiUu djukA

	 (c)	 ukfHkdh; fj;sDVj esa ÅtkZ dk L=kksr tks fctyh 
mRiUu djrk gSA

	 (d)	 ,d ijek.kq ce esa cgqr vf/d ÅtkZ dk mRiUu 
gksukA

	93- 	lsyqyksl ,oa LVkpZ nksuksa esa gksrs gSa
	 (a)	 (+) – Xywdkst

	 (b)	 (–) – ÚDVkst

	 (c)	 mijksDr (a) ,oa (b) nksuksa

	 (d)	 (+) – xSysDVkst

	94- 	fuEu esa dkSu&lh ;kfU=kd rjax gS\
	 (a)	 jsfM;ks rjaxsa	 (b)	 ,Dl&rjaxsa

	 (c)	 çdk'k rjaxsa	 (d)	 èofu rjaxsa

	 95-	rki c<+us ds lkFk æo dh ';kurk%
	 (a)	 c<+rh gSA

	 (b)	 ?kVrh gSA

	 (c)	 vifjofrZr jgrh gSA

	 (d)	 æo dh çÑfr ds vuqlkj c<+ ;k ?kV ldrh gSA

	96-	,d uSuksehVj cjkcj gS

	 (a)	 10–9 ehVj	 (b)	 10–6 ehVj

	 (c)	 10–10 ehVj	 (d)	 10–3 ehVj

	 89. 	The training centre of the Uttarakhand Livestock 
Development Board is located at

	 (a)	 Dehradun 	 (b)	 Rishikesh 
	 (c)	 Kalsi 	 (d)	 Haridwar
	 90. 	Which set of the following gases is most important 

for greenhouse effect?
	 (a)	 Carbon dioxide, Methane, Chlorine, Nitric 

oxide.
	 (b)	 Nitric oxide, Methane, Ethane, Chlorfluoro 

carbons.
	 (c)	 Carbon dioxide, Methane, Nitrous oxide, 

Water vapour.
	 (d)	 Carbon Monoxide, Sulphur dioxide, 

Methane, Water vapour
	 91. 	Nickel-Cadmium (Ni-Cd) battery is used in
	 (a)	 Calculator 	
	 (b)	 Cordless electronic appliances
	 (c)	 Transistors 	
	 (d)	 All of the above
	 92.	 Which statement is not associated with nuclear 

fission?
	 (a)	 Neutron-induced nuclear reaction.
	 (b)	 Energy generation in stars.
	 (c)	 Source of energy in nuclear reactor that 

produces electricity.
	 (d)	 Enormous energy is released in an atom 

bomb.
	 93. 	Cellulose and starch both are made up of
	 (a)	 (+) – glucose 	
	 (b)	 (–) – fructose
	 (c)	 Both (a) and (b)	given above 
	 (d)	 (+) – galactose
	 94. 	Which of the following is a mechanical wave?
	 (a)	 Radio-waves
 	 (b)	 X-rays
	 (c)	 Light waves 
	 (d)	 Sound waves
	 95. 	With the rise of temperature, the viscosity of liquid:
	 (a)	 Increases
	 (b)	 Decreases
	 (c)	 Remains unchanged
	 (d)	 May increase or decrease depending on 

nature of liquid
	 96. 	One Nanometer is equal to
	 (a)	 10–9 m 	 (b)	 10–6 m 
	 (c)	 10–10 m 	 (d)	 10–3 m
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	 97. 	The time period of revolution of a geo-stationary 
satellite is

	 (a)	 12 hrs. 	 (b)	 24 hrs. 
	 (c)	 48 hrs. 	 (d)	 6 hrs.
	 98. 	Teflon is the common name of
	 (a)	 Polytetrafluoro ethylene 	
	 (b)	 Polyvinyl chloride
	 (c)	 Polyvinyl fluoride 	
	 (d)	 Dichlorodifluoro methane
	 99. 	Which pair of following is of Copper alloys?
	 (a)	 Brass and invar 	
	 (b)	 Bronze and Nichrome
	 (c)	 Brass and Bronze 	
	 (d)	 None of the above
	100. 	Electric conduction in a semiconductor takes place 

due to
	 (a)	 Electrons only 	
	 (b)	 Holes only
	 (c)	 Both electrons and holes 
	 (d)	 Neither electrons nor holes
	101. 	“Red Data Book” is published by
	 (a)	 USEPA 	 (b)	 IUCN 
	 (c)	 WWF 	 (d)	 IG-BP
	102.	 In Uttarakhand, Oak-Rhododendron are 

characteristic plants of
	 (a)	 Sub-tropical forest 
	 (b)	 Sub-alpine forest
	 (c)	 Temperate forest 
	 (d)	 All of the above
	103. 	Maintenance of genetic diversity in National Parks 

is done by
	 (a)	 In-situ conservation 	
	 (b)	 Ex-situ conservation
	 (c)	 Gene pool 	
	 (d)	 None of the above
	104. 	First National Park of India is
	 (a)	 Nanda Devi National Park 
	 (b)	 Jim Corbett National Park
	 (c)	 Rajaji National Park 	
	 (d)	 Kanha National Park
	105. 	Which one is an example of “Parallel Cropping”?
	 (a)	 Potato + Rice 
	 (b)	 Wheat + Mustard
	 (c)	 Cotton + Wheat 
	 (d)	 Sorghum + Potato

	97- 	,d Hkw&fLFkj mixzg dk ifjHkze.k dky gksrk gS

	 (a)	 ckjg ?kaVs 	 (b)	 pkSchl ?kaVs

	 (c)	 vM+rkyhl ?kaVs	 (d)	 N% ?kaVs

	98- 	VsiQykWu lkekU; uke gS%

	 (a)	 ikWfyVsVªkÝyqvksjks ,Fkhyhu

	 (c)	 ikWfyfoukby ÝyqvksjkbM

	 (b)	 ikWfyfoukby DyksjkbM

	 (d)	 MkbDyksjks MkbZÝyqvksjks feFksu

	99- 	fuEufyf•r esa dkSu&lk tksM+k rk¡cs ds feJ/krqvksa dk gS\

	 (a)	 ihry ,oa bUokj

	 (b)	 dk¡lk ,oa ukbØkse

	 (c)	 ihry ,oa dk¡lk

	 (d)	 mi;ZqDr esa ls dksbZ ugha

100- 	,d v¼Zpkyd esa fo|qr pkyu gksrk gSA

	 (a)	 dsoy bysDVªkWUl }kjk 

	 (b)	 dsoy gksYl }kjk

	 (c)	 bysDVªkWUl ,oa gksYl nksuksa ds }kjk

	 (d)	 u bysDVªkWUl }kjk vkSj u gks gksYl }kjk

	101-	¶jsM MkVk cqd¸ dk çdk'ku fdlds }kjk fd;k tkrk gS\

	 (a) 	;w-,l-bZ-ih-,-	 (b)	 vkbZ-;w-lh-,u 

	 (c)	 MCY;w-MCY;w-,iQ	 (d)	 vkbZ-th-ch-ih

	102- 	mÙkjk•.M esa ckat&cqjka'k ds ikS/s gSa%

	 (a)	 miks".k dfVca/h; ouksa dh fo'ks"krk

	 (b)	 mi&mPp ioZrh; ouksa dh fo'ks"krk

	 (c)	 le'khrks".k ouksa dh fo'ks"krk

	 (d)	 mijksDr lHkh

	103- 	jk"Vªh; m|kuksa esa vkuqoaf'kd fofo/rk dk j•&j•ko 
fd;k tkrk gSA

	 (a)	 bu&lhVw laj{k.k }kjk

	 (b)	 ,Dl&lhVw laj{k.k }kjk

	 (c)	 thu iwy }kjk

	 (d)	 mijksDr esa ls dksbZ ugha

	104- 	Hkkjro"kZ dk çFke jk"Vªh; m|ku gS

	 (a)	 uUnk nsoh jk"Vªh; m|ku

	 (b)	 fte dkWcZsV jk"Vªh; m|ku

	 (c)	 jktkth jk"Vªh; m|ku

	 (d)	 dkUgk jk"Vªh; m|ku

	105-	¶lekukUrj iQly¸ dk ,d mnkgj.k gSA

	 (a)	 vkyw + /ku 	 (b)	 xsgw¡ + ljlksa

	 (c)	 dikl + xsgw¡	 (d)	 Tokj + vkyw
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	106. 	Which of the following is an Operating System?
	 (a)	 UNIX 	 (b)	 JAVA 
	 (c)	 ORACLE 	 (d)	 MS-Office
	107. 	Which of the following is an extremely fast, small 

memory between CPU and main memory?
	 (a)	 Main RAM and ROM 	
	 (b)	 Cache memory
	 (c)	 Secondary memory 	
	 (d)	 None of the above
	108. 	Television transmission is an example of which of 

the following?
	 (a)	 Simplex Communication 
	 (b)	 Half-duplex Communication
	 (c)	 Full-duplex Communication 	

(d)	 None of the above
	109. 	The set of protocols, which defines all transmission 

exchanges across the internet is called
	 (a)	 CSMA/CD 
	 (b)	 TCP/IP 
	 (c)	 FDDI 
	 (d)	 None of the above
	110. 	Which of the following is not offered as an 

independent service layer in Cloud Computing?
	 (a)	 Hardware as a service 	
	 (b)	 Platform as a service
	 (c)	 Software as a service 	
	 (d)	 Infrastructure as a service
	111. 	When did Tehri State merge with the Indian Union?
	 (a)	 1st August, 1949 
	 (b)	 15th August, 1947
	 (c)	 20th January, 1950 
	 (d)	 26th January, 1952
	112. 	In Mahabharat by what name were the Kuninda-

kings known?
	 (a)	 Sarvasrestha 	 (b)	 Madhyam 
	 (c)	 Dwij Srestha 	 (d)	 Dwij
	113. 	What is the historical name of Uttarakashi?
	 (a)	 Govishan 	 (b)	 Gangadwar 
	 (c)	 Brahmpur 	 (d)	 Barahat
	114. 	What are Kingri-Wingri, Neeti-Mana?
	 (a)	 Passes 	 (b)	 Rivers 
	 (c)	 Mountains 	 (d)	 Religious places
	115. 	To which of the following games is Chirag Sen 

related?
	 (a)	 Cricket 	 (b)	 Football 
	 (c)	 Badminton 	 (d)	 Hockey

	106-	fuEu esa ls dkSu ,d vkWijsfVax flLVe gS\

	 (a)	 ;wfuDl 	 (b)	 tkok

	 (c)	 vkWjsdy	 (d)	 ,e,l&vkWfiQl

	107-	fuEufyf•r esa ls dkSu lh-ih-;w- rFkk eq[; Le`fr ds 
chp vR;f/d rst] NksVh vkdkj dh Le`fr gksrh gS\

	 (a)	 eq[; RAM rFkk ROM

	 (b)	 dS'k Le`fr

	 (c)	 f}rh;d Le`fr

	 (d)	 mijksDr esa ls dksbZ ugha

	108-	Vsyhfo”ku VªkUlfe'ku fuEu esa ls fdldk mnkgj.k gS\
	 (a)	 flEIysDl dE;wfuds'ku

	 (b)	 gkiQ MqIysDl dE;wfuds'ku

	 (c)	 iQqy IysDl dE;qfuds'ku

	 (d)	 mijksDr esa ls dksbZ ugha

	109-	çksVksdkWyksa dk og lewg tks lHkh VªkUlfe'ku ,Dlpsatst 
dks baVjusV esa ,d vksj ls nwljh vksj Hkstus dks ifjHkkf"kr 
djrk gS] dgykrk gS%

	 (a)	 CSMA/CD
	 (b)	 TCP/IP
	 (c)	 FDDI

	 (d)	 mijksDr esa ls dksbZ ugha

	110- 	fuEu esa ls dkSu&lh lfoZl ys;j DykmM dEI;wfVax esa 
vyx ls miyC/ ugha gksrh gS\

	 (a)	 gkMZos;j ,st , lfoZl

	 (b)	 IysViQkWeZ ,t , lfoZl

	 (c)	 lkWÝVos;j ,t , lfoZl

	 (d)	 bUÚkLVªDpj ,st , lfoZl

	111-	fVgjh fj;klr dk Hkkjrh; la?k esa dc foy; gqvk\
	 (a)	 1 vxLr] 1949	 (c)	 20 tuojh] 1950

	 (b)	 15 vxLr] 1947	 (d)	 26 tuojh] 1952

	112- 	egkHkkjr esa dqf.kUn&ujs'k fdl uke ls tkus tkrs Fks\
	 (a)	 loZJs"B	 (b)	 eè;e

	 (c)	 f}t Js"B	 (d)	 f}t

	113-	mÙkjdk'kh dk ,sfrgkfld uke D;k gS\
	 (a)	 xksfo"k.k	 (b)	 xaxk}kj

	 (c)	 czãiqj	 (d)	 ckM+kgkV

	114-	fdaxzh foaxzh] uhfr&eka.kk D;k gSa\
	 (a)	 njsa	 (b)	 ufn;k¡

	 (c)	 ioZr	 (d)	 /kfeZd LFky

	115-	fpjkx lsu] fuEu esa ls fdl •sy ls lEcfU/r gS\

	 (a)	 fØdsV	 (b)	 iQqVckWy

	 (c)	 cSMfe.Vu	 (d)	 gkWdh
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	116. 	Where is ‘Mauna-fair’ held?
	 (a)	 Uttarkashi 	
	 (b)	 Palipachau, Jaunsar, Rawai
	 (c)	 Chamoli 	
	 (d)	 Ranikhet
	117. 	Who had founded the “Tehri Rajya Praja Mandal”?
	 (a)	 Sri Deo Suman 	
	 (b)	 Badri Dutt Pandey
	 (c)	 Vir Chandra Singh Garhwali 
	 (d)	 Indra Mani Budoni
	118. 	In which State of India is the Neutrino Observatory 

being established?
	 (a)	 Kerala 	 (b)	 Tamil Nadu 
	 (c)	 Karnataka 	 (d)	 Maharashtra
	119. 	In which event Deepa Malik won a silver medal 

at the Rio Paralympics?
	 (a)	 Javellin Throw 	 (b)	 Discus Throw
	 (c)	 Hammer Throw 	 (d)	 Shot Put
	120. 	NASA’s ‘Cassini’ spacecraft is on mission for 

which planet?
	 (a)	 Jupiter 	 (b)	 Mars 
	 (c)	 Saturn 	 (d)	 Venus
	121. 	In which year was the Collegium System for the 

appointment of Judges adopted by the Supreme 
Court of India?

	 (a)	 1993 
	 (b)	 1996 
	 (c)	 2000 
	 (d)	 2004
	122. 	Which country has the world’s longest network of 

bullet train?
	 (a)	 Russia 
	 (b)	 Japan 
	 (c)	 U.S.A. 
	 (d)	 China
	123. 	Which Physician of Indian origin was honoured 

with the U.S. National Humanities Medal – 2015?
	 (a)	 Ranjit Bhushan 	 (b)	 Arifa Tehsin
	 (c)	 Abraham Verghese 	 (d)	 Suketu Mehta
	124. 	Which Indian Para-military force has the 

distinction of raising the first women’s battalion?
	 (a)	 CISF 
	 (b)	 CRPF 
	 (c)	 BSF 
	 (d)	 ITBP

116-		^ekSa.k&esyk* dgk¡ vk;ksftr gksrk gS\

	 (a)	 mÙkjdk'kh

	 (b)	 ikyhiNkÅ¡] tkSulkj] jokbZ

	 (c)	 peksyh

	 (d)	 jkuh•sr

	117- 	¶fVgjh jkT; çtk e.My¸ dh LFkkiuk fdlus dh Fkh\

	 (a)	 Jh nso lqeu

	 (b)	 cæh nÙk ik.Ms;

	 (c)	 ohj pUæ flag x<+okyh

	 (d)	 bUæek.kh cMksuh

	118-	Hkkjr ds fdl jkT; esa U;wfVªuks os/'kkyk LFkkfir dh tk 
jgh gS\

	 (a)	 dsjy	 (b)	 rfeyukMq

	 (c)	 dukZVd	 (d)	 egkjk"Vª

	119-	fj;ks iSjkfyfEiDl esa nhik efyd us fdl çfr;ksfxrk esa 
jtr ind thrk\

	 (a)	 Hkkyk iQsad	 (b)	 pDdk iQsad

	 (c)	 rkjxksyk iQsad	 (d)	 xksyk iQsad

	120-	uklk dk varfj{k;ku ^dSlhuh* fdl xzg ds fe'ku ij 
gS\

	 (a)	 c`gLifr	 (b)	 eaxy

	 (c)	 'kfu	 (d)	 'kqØ

	121-	Hkkjr ds lokZsPp U;k;ky; us fdl o"kZ esa U;k;k/h'kksa 
dh fu;qfDr ds fy, dkysft;e voLFkk dks viuk;k 
Fkk\

	 (a)	 1993	 (b)	 1996

	 (c)	 2000	 (d)	 2004

	122-	fdl ns'k esa nqfu;k dk lcls yEck cqysV Vªsu dk tky 
gS\

	 (a)	 :l 	 (b)	 tkiku

	 (c)	 ;w-,l-,-	 (d)	 phu

	123-	fdl Hkkjrh; ewy ds fpfdRld dks vesfjdk ds jk"Vªh; 
ekufodks ind&2015 ls lEekfur fd;k x;k\

	 (a)	 jathr Hkw"k.k	 (b)	 vkfjiQk rglhu

	 (c)	 vczkge oxhZt 	 (d)	 lqdsrq esgrk

	124-	fdl Hkkjrh; v/Z&lSfud cy dks igyk efgyk cVkfy;u 
xfBr djus dk xkSjo çkIr gS\

	 (a)	 lh-vkbZ-,l-,iQ-

 	 (b)	 lh-vkj-ih-,iQ- 

	 (c)	 ch-,l-,iQ-

	 (d)	 vkbZ-Vh-ch-ih-
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	125. 	The “Kailash Sacred Landscape Conservation and 
Development Initiative” (KSLCDI) is a 
collaboration among which three nations?

	 (a)	 India, Afghanistan, China 
	 (b)	 India, Nepal, Afghanistan
	 (c)	 India, Nepal, Pakistan 
	 (d)	 India, China, Nepal
	126. 	Which is the first Private Sector Bank in India to 

use Software Robotics?
	 (a)	 ICICI Bank 	 (b)	 IDBI Bank 
	 (c)	 Axis Bank 	 (d)	 Bandhan Bank
	127. 	The financial instrument, through which Indian 

companies can raise money from overseas market 
in Rupees, is known as

	 (a)	 RBI Bonds 	 (b)	 Gold Bonds 
	 (c)	 Masala Bonds 	 (d)	 Overseas Bonds
1	28. 	Who is the world’s first woman to receive the 

“Award for Exceptional Bravery at Sea” from the 
International Maritime Organisation (I.M.O.)?

	 (a)	 Sunitha Krishnan 
	 (b)	 Irom Sharmila
	 (c)	 Richa Kar 
	 (d)	 Radhika Menon
	129. 	Who will be the Chief Guest at the 2017-Republic 

Day Celebrations?
	 (a)	 Crown Prince of Abu Dhabi 
	 (b)	 Chancellor of Germany
	 (c)	 King of Saudi Arabia 	
	 (d)	 President of France
	130. 	“Bathukamma” is the festival of which State?
	 (a)	 Odisha 	 (b)	 Telangana 
	 (c)	 Gujarat 	 (d)	 Bihar
	131. 	The book “Ace Against Odds” is an autobiography 

of :
	 (a)	 Leander Paes 	
	 (b)	 Somdev Devvarman
	 (c)	 Sania Mirza 	
	 (d)	 Mahesh Bhupathi
	132. 	Which of the following was given the classical 

language status in 2014?
	 (a)	 Odiya 	 (b)	 Gujarati 
	 (c)	 Dongari 	 (d)	 Bangla
	133. 	Which year will India chair the prestigious G-20 

forum?
	 (a)	 2017 	 (b)	 2018 
	 (c)	 2020 	 (d)	 2022

	125-	¶dSyk'k ifo=k ySaMLdsi laj{k.k rFkk fodkl igy¸ 
(ds-,l-,y-lh-Mh-vkbZ-) fdu rhu ns'kksa ds eè; lg;ksx 
gS\

	 (a)	 Hkkjr] viQxkfuLrku] phu

	 (b)	 Hkkjr] usiky] viQxkfuLrku

	 (c)	 Hkkjr] usiky] ikfdLrku

	 (d)	 Hkkjr] phu] usiky

	126-	fdl futh {ks=k ds cSad us Hkkjr esa igyh ckj lkWÝVos;j 
jkscksfVDl dk mi;ksx fd;k\

	 (a)	 vkbZ-lh-vkbZ-lh-vkbZ- cSad

	 (b)	 vkbZ-Mh-ch-vkbZ- cSad

	 (c)	 ,sfDll cSad

	 (d)	 ca/u cSad

	127-	og foÙkh; lk/u] ftlds ekè;e ls Hkkjrh; daifu;k¡ 
fons'kh ck”kkjksa ls #i;s esa] /u tqVk ldrh gSa] dgykrk gS

	 (a)	 vkj-ch-vkbZ- ckSUM 	 (b)	 xksYM ckSUM

	 (c)	 elkyk ckSUM	 (d)	 vksojlh”k ckSUM

	128-	varjkZ"Vªh; leqæh laxBu (vkbZ-,e-vks-) }kjk ¶leqæ esa 
vlk/kj.k cgknqjh ds fy, iqjLdkj¸ çkIr djus okyh 
fo'o dh igyh efgyk dkSu gS\

	 (a)	 lquhrk Ñ".ku	 (b)	 bjkse 'kfeZyk

	 (c)	 ½pk dj	 (d)	 jkf/dk esuu

	129-	2017&x.kra=k fnol lekjksg ds eq[; vfrfFk dkSu gksaxs\
	 (a)	 vcw /kch ds ;qojkt

	 (b)	 teZuh ds pkalyj

	 (c)	 lÅnh vjc ds 'kkld

	 (d)	 Úkal ds jk"Vªifr

	130-	¶cFkqdEe¸ fdl jkT; dk ioZ gS\
	 (a)	 vksfM'kk	 (b)	 rsyaxkuk

	 (c)	 xqtjkr	 (d)	 fcgkj

131-		¶,l vxsULV vkWM~l¸ vkRedFkk gS%
	 (a)	 fy,aMj isl dh

	 (b)	 lksenso nsooeZu dh

	 (c)	 lkfu;k fe”kkZ dh

	 (d)	 egs'k Hkwifr dh

	132-	o"kZ 2014 esa fdls çkP; Hkk"kk dk n”kkZ fn;k x;k gS\
	 (a)	 vksfM+;k	 (b)	 xqtjkrh

	 (c)	 Mksaxjh	 (d)	 caxyk

	133-	fdl o"kZ Hkkjr çfrf"Br th&20 iQksje dh vè;{krk 
djsxk\

	 (a)	 2017	 (b)	 2018

	 (c)	 2020	 (d)	 2022
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	134. 	The British scholar Jim O’Neill who coined the 
term ‘BRICS’ is related to which of the following 
subjects?

	 (a)	 Psychology 	 (b)	 Sociology 
	 (c)	 Political Science 	 (d)	 Economics
	135. Which Indian Scientist had the distinction of 

receiving not only the Nobel Prize but also the 
Bharat Ratna?

	 (a)	 Dr. Vikram Sarabhai 	
	 (b)	 Dr. J.C. Bose
	 (c)	 Dr. C.V. Raman 	
	 (d)	 Dr. Homi Jehangir Bhabha
	136. 	Who of the following Gods was considered as 

War-God in the Vedic Pantheon?
	 (a)	 Varuna 	 (b)	 Indra 
	 (c)	 Mitra 	 (d)	 Agni
	137. 	Who was the founder of the Nanda Dynasty in 

Magadha?
	 (a)	 Mahapadmananda 	 (b)	 Dhanananda
	 (c)	 Nandivardhan 	 (d)	 Mahanandin
	138. 	Who was called as ‘Sandrocottos’ by Justin, the 

Greek Writer?
	 (a)	 Chandragupta Maurya 
	 (b)	 Chandragupta I
	 (c)	 Chandragupta II 	
	 (d)	 Samudragupta
	139. 	Which one of the following places was not the 

centre of learning during early medieval period?
	 (a)	 Nalanda 
	 (b)	 Vikramshila 
	 (c)	 Taxila 
	 (d)	 Uddantapur
	140. 	The founder of Nyaya Philosophy was
	 (a)	 Kapil 	 (b)	 Kanad 
	 (c)	 Gautam 	 (d)	 Jaimini
	141. 	The Horse-Shoe arch was first introduced in the
	 (a)	 Tomb of Iltutmish 	
	 (b)	 Tomb of Ghiyas-ud-din Tughlaq
	 (c)	 Alai Darwazah 	
	 (d)	 Quwwat-ul-Islam Mosque
	142. 	Which of the following Sufi saints is known as 

Mahboob-i-Ilahi?
	 (a)	 Shaikh Muin-ud-din Chishti 
	 (b)	 Shaikh Nizam-ud-din Auliya
	 (c)	 Baba Farid 	
	 (d)	 Shaikh Nasir-ud-din Chirag-i-Dehalvi

134- ^fczDl* (BRICS) 'kCn dh jpuk djus okys fczVsu ds 
fo}ku fut vks uhy] fuEu esa ls fdl fo"k; ls lEcfU/r 
gS\

	 (a)	 euksfoKku	 (b)	 lekt'kkL=k

	 (c)	 jktuhfr 'kkL=k	 (d)	 vFkZ'kkL=k

	135-	fdl Hkkjrh; oSKkfud dks u dsoy ukscsy iqjLdkj 
vfirq Hkkjr jRu Hkh çkIr djus dk lEeku çkIr gS\

	 (a)	 MkW- foØe lkjkHkkbZ

	 (b)	 MkW- ts-lh- cksl

	 (c)	 MkW- lh-oh- jeu

	 (d)	 MkW- gkseh tgk¡xhj HkkHkk

	136-	oSfnd nsoeaMy esa fuEu esa ls dkSu nsork ;q¼ dk nsork 
ekuk tkrk gS\

	 (a)	 o#.k	 (b)	 bUæ

	 (c)	 fe=k	 (d)	 vfXu

	137-	ex/ esa uUnoa'k dk laLFkkid dkSu Fkk\ 

	 (a)	 egkinekuUn 	 (b)	 /ukuUn

	 (c)	 ufUno/Zu	 (d)	 egkufUnu

	138-	;wukuh ys•d tfLVu }kjk fdls ^lSUMªksdksVl* dgk x;k 
Fkk\ 

	 (a)	 pUæxqIr ekS;Z	 (b)	 pUæxqIr çFke

	 (c)	 pUæxqIr f}rh;	 (d)	 leqæxqIr

139-		fuEufyf•r LFkkuksa esa ls dkSu&lk LFkku iwoZeè;dky esa 
f'k{kk dk dsUæ ugha Fkk\

	 (a)	 ukyUnk	 (b)	 foØef'kyk

	 (c)	 r{kf'kyk	 (d)	 míUriqj

	140-	U;k; n'kZu ds laLFkkid FksA

	 (a)	 dfiy	 (b)	 d.kkn

	 (c)	 xkSre	 (d)	 tSfeuh

	141-	?kksM+s ds uky ds vkdkj dh esgjkc loZçFke ç;ksx esa 
ykbZ xbZ Fkh%

	 (a)	 bYrqrfe'k ds edcjs esa

	 (b)	 f?k;klqíhu rqxyd ds edcjs esa 

	 (c)	 vykbZ njoktk esa

	 (d)	 dqOor&my&bLyke efLtn esa

	142-	fuEufyf•r esa ls dkSu&ls lwiQh lUr egcwc&,&bykgh 
ds uke ls tkus tkrs gSa\

	 (a)	 'ks• eqbZuqíhu fp'rh

	 (b)	 'ks• fu”kkemíhu vkSfy;k

	 (c)	 ckck iQjhn

	 (d)	 'ks• ulh#íhu fpjkx&,&nsgyoh
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	143-	lqyrku ftlus c<+kdj Hkw&jktLo mit dk 50» dj 
fn;k] og Fkk%

	 (a)	 eqgEen&fcu&rqxyd	 (b)	 vykmíhu f•yth

	 (c)	 fiQjkst'kkg rqxyd	 (d)	 cyou

	144-	fuEufyf•r bekjrksa esa ls dkSu&lh bekjr ̂ 'kkus iQrgiqj* 
dgh tkrh gS\

	 (a)	 cqyUn njoktk

	 (b)	 rqdhZ lqyrkuk dk egy

	 (c)	 tkek efLtn

	 (d)	 'kgtknh vEcj dk egy

	145-	rcdkr&,&vdcjh fdlus fy•h Fkh\

	 (a)	 vcqy iQ”ky

	 (b)	 vCnqy dkfnj cnkmuh

	 (c)	 vCckl •ku lkjokuh

	 (d)	 fu”kkeqíhu vgen

	146-	fdl fl• xq# ds }kjk flD•ksa dk ̂ •kylk* esa :ikarj.k 
fd;k x;k Fkk\

	 (a)	 xq# rsx cgknqj	 (b)	 xq# vtZqu

	 (c)	 xq# xksfoUn flag	 (d)	 xq# ukud nso

	147-	fuEu esa ls dkSu ^uhyk ty ;kstuk* (Cyw okVj uhfr) 
ls lEcfU/r gS\

	 (a)	 Mh vyesMk 	 (b)	 vycqddZ 

	 (c)	 MwIys 	 (d)	 jkcVZ DykbZo

	148-	ml ÚkUlhlh lsukifr dk uke crkb;s tks 1760 ds 
okfUnok'k ;q¼ esa ijkftr gqvk%

	 (a)	 dkmUV ykyh

	 (b)	 ÚkfUll ekfVZu

	 (c)	 MqIys

	 (d)	 mi;ZqDr esa ls dksbZ ugha

	149-	fczfV'k laln ds fdl vf/fu;e us Hkkjr esa O;kikj ij 
bZLV bafM;k dEiuh ds ,dkf/dkj dks lekIr fd;k\

	 (a)	 jsX;wysfVax ,DV

	 (b)	 fiV~l bafM;k ,DV

	 (c)	 1813 dk pkVZj ,DV

	 (d)	 mi;ZqDr esa ls dksbZ ugha

	150-	nf{k.k Hkkjr esa flapkbZ O;oLFkk dk vxznwr fdls ekuk 
tkrk gS&

	 (a)	 lj vkFkZj dkWVu 	 (b)	 duZy cs;MZ fLeFk 

	 (c)	 ysfÝVusaV Cysu	 (d)	 duZy jkoVZ fLeFk

	143. 	Sultan who raised the land revenue to fifty percent 
of the produce was

	 (a)	 Muhammad-bin-Tughlaq 
	 (b)	 Alauddin Khilji
	 (c)	 Firoz Shah Tughlaq
	 (d)	 Balban
	144. 	Which one of the following buildings is known as 

‘Shan-i-Fatehpur’?
	 (a)	 Buland Darwazah 	
	 (b)	 Turky Sultana ka Mahal
	 (c)	 Jama Masjid 	
	 (d)	 Shahjadi Umber ka Mahal
145. 	Who wrote Tabaqat-i-Akbari?
	 (a)	 Abul Fazal 	
	 (b)	 Abdul Qadir Badauni
	 (c)	 Akbar Khan Sarwani
	 (d)	 Nizam-ud-din Ahmed
146. 	Under which Sikh Guru the Sikhs were transformed 

into the ‘Khalsa’?
	 (a)	 Guru Teg Bahadur 	 (b)	 Guru Arjun
	 (c)	 Guru Govind Singh 	(d)	 Guru Nanak Dev
	147. 	Which one of the followings is connected with 

‘Blue Water’ policy?
	 (a)	 De Almeida 
	 (b)	 Albuquerque
	 (c)	 Dupleix 
	 (d)	 Robert Clive
148. 	Name the French Commander who was defeated 

in the battle of Wandiwash in 1760.
	 (a)	 Count Lally
 	 (b)	 Francis Martin 
	 (c)	 Dupleix 
	 (d)	 None of the above
149. 	Which Act of British Parliament abolished the East 

India Company’s monopoly over trade in India?
	 (a)	 Regulating Act 	 (b)	 Pitt’s India Act
	 (c)	 Charter Act of 1813 	(d)	 None of the above
150. 	Who is regarded as the Pioneer of Irrigation works 

in South India?
	 (a)	 Sir Arthur Cotton 
	 (b)	 Col. Baird Smith
	 (c)	 Lt. Blaine 
	 (d)	 Col. Robert Smith


